
#vanconcept

IN
S

T
R

U
C

T
IO

N
S

C
A

B
 H

E
A

D
L

IN
E

R
 S

H
E

L
F

www.myvanconcept.co.uk

No. Part No. Description Full Kit Semi-DIY Install Kit DIY Install Kit

1 P-0048 Crafter/MAN TGE Cab Headliner Shelf 1 1 -

2 W-0003 Cab Shelf Strengthening Rib 2 2 -

3 SMW-0119 Crafter/MAN TGE Cab Shelf Bracket Rear LH 1 1 1

4 SMW-0120 LH Crafter/MAN TGE Cab Shelf Bracket Side LH 1 1 1

5 SMW-0120 RH Crafter/MAN TGE Cab Shelf Bracket Side RH 1 1 1

6 SMW-0121 Crafter/MAN TGE Cab Shelf Bracket Rear RH 1 1 1

7 M-0012 Crafter/MAN TGE Cab Headliner Spacer 2 2 2

8 CSK Screw 4 x 25mm 5 5 15

9 CSK Screw No.6 x 1/2" 4 4 4

10 Button Head Bolt M6 x 12mm 4 4 4

11 Button Head Bolt M6 x 50mm 2 2 2

12 Flanged Button Head Bolt M6 x 25mm 2 2 2

13 Washer M6 2 2 2

14 Nyloc Nut M6 2 2 2

15 CRUX-0025 Template Paper Template - - 1

What’s in the box?

The various kit options and 

their parts are noted in the 

table with a diagram on the 

following page.



#vanconceptwww.myvanconcept.co.uk

3

12

2

4

6

5

IN
S

T
R

U
C

T
IO

N
S

C
A

B
 H

E
A

D
L

IN
E

R
 S

H
E

L
F



• Use the template supplied to mark around and cut-out the shelf from 9mm plywood. (Note 

the areas that need a chamfer adding). 

• Attach the two strengthening ribs in the positions shown, using the screws supplied. (We 

advise using some PVA glue as well).

1

#vanconceptwww.myvanconcept.co.uk

IN
S

T
R

U
C

T
IO

N
S

C
A

B
 H

E
A

D
L

IN
E

R
 S

H
E

L
F



• Line the plywood with your chosen finish. 

• Once fully lined, pierce the carpet in the two rear corners where the pre-drilled hole is.

2

#vanconceptwww.myvanconcept.co.uk

IN
S

T
R

U
C

T
IO

N
S

C
A

B
 H

E
A

D
L

IN
E

R
 S

H
E

L
F



• On the right side grab handle above the door, remove the plastic cover and 

remove the Torx bolt that secures the gab handle in place.

• Pull out or cut off the cover plate retaining clip.

• Ensure the metal dished cup remains in place.

3

#vanconceptwww.myvanconcept.co.uk

IN
S

T
R

U
C

T
IO

N
S

C
A

B
 H

E
A

D
L

IN
E

R
 S

H
E

L
F



• Fit one of the spacers provided into the recess hole, offer up the right sided front bracket (item #5) and fit 

1x M6 x 50mm long button head bolt.

• Do not fully tighten at this stage.

4

#vanconceptwww.myvanconcept.co.uk

IN
S

T
R

U
C

T
IO

N
S

C
A

B
 H

E
A

D
L

IN
E

R
 S

H
E

L
F



• Repeat the previous two stages to fit the left sided bracket (item #4)

5

#vanconceptwww.myvanconcept.co.uk

IN
S

T
R

U
C

T
IO

N
S

C
A

B
 H

E
A

D
L

IN
E

R
 S

H
E

L
F



• Take the two rear brackets (item #3 & #6) and fit into the mounting holes in the rear of the roof rib using the 

4x M6 x 12mm button head bolts.

• As a guide, if using a shelf made from 9mm plywood, position the mounting bolts at the top of the mounting slots. If a 

12mm thick shelf is being used, position the bolts at the bottom of the mounting slots.

6

#vanconceptwww.myvanconcept.co.uk

IN
S

T
R

U
C

T
IO

N
S

C
A

B
 H

E
A

D
L

IN
E

R
 S

H
E

L
F



• Offer the shelf into place, ensuring it is pushed forward fully.

7

#vanconceptwww.myvanconcept.co.uk

IN
S

T
R

U
C

T
IO

N
S

C
A

B
 H

E
A

D
L

IN
E

R
 S

H
E

L
F



• Fit the 2x M6 x 25mm flanged button head bolts through the two mounting holes in the rear corners of the shelf and locate through 

the mounting hole in the rear brackets. 

• Fit 1x washer and 1x M6 Nyloc nut to each bolt and tighten to secure in place.

• On the side brackets, fit the 4x No.6 x ½” screws into the four countersunk holes of the brackets and tighten into the shelf.This will 

position the brackets correctly and now the two M6 x 50mm button head bolts can be fully tightened.

8

#vanconceptwww.myvanconcept.co.uk

IN
S

T
R

U
C

T
IO

N
S

C
A

B
 H

E
A

D
L

IN
E

R
 S

H
E

L
F



• We advise to fit a surround around the bulkhead and to use the 5x 4 x 25mm screws to secure the rear 

strengthening rib on the shelf to the surround before use for additional strength.

• Please note that this shelf is designed to take lightweight items only. Do not store anything with significant weight,

especially whilst the vehicle is in motion.

9

#vanconceptwww.myvanconcept.co.uk

IN
S

T
R

U
C

T
IO

N
S

C
A

B
 H

E
A

D
L

IN
E

R
 S

H
E

L
F


